Class 5t subject English 03.05.2021
Lesson:1. Chuskit Goes to school
Comprehension

A.Mark the sentence as true (T) or false (F).

e Chuskit got up early that morning because it was
the Losar festival.

e The school was very far from Chuskut's home.

e Chuskit went to school every day by bus.

e Abdul was a student of class 6 at the government
school.

e Abdul offered to help Chuskit to go to school.

e Meme- ley was unhappy that Chuskit would be
able to go to school.

B.Choose the correct option.

1. Chuskit had never been to school because
e Her parents could not afford the fees
e Her parents felt that girls should not study.
e She could not walk.
2. Abdul was inspired to help Chuskit to go to
school because he was:
e A sensative boy who had read that all
children have a right to education.
e Chuskut's friend
e Also differently abled



3. Even she got a wheael chair,Chuskit could not go
to school at first as :

e The path to the school was too uneven and
pebbly and her wheelchair could get stuck.

e She could not move her wheelchair for
such a long distance.

e Her parents did not allow her to go alone.
Solve these questions by using your mind.
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